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Part :- A [50]
1) If f:R-{-1} > R-{-1},f(x) ~ 17X then 7 (x)=.....
1+x
A x+1 N 1-x C x—1 N 1+x
()X—l ()1+X ()X+2 ()1—X
(2) Arelation R on set A={1,2,3,4} is given as R={(1,3), (4,2), (2,4), (2,3), (3,1)}
then R is ......
(A) reflexive (B) transitive (C) not symmetric (D) a function
(3 LetE={1,2,3,4} and F={1,2}are given then number of onto function from E
toFis..........
A) 14 (B) 16 (©) 12 (D) 8
4 sin”" [sin EJ =
) I
@ ¢ B) ~ (© % D) ¢

T _ 1
(5) Value of CO{E"’COS 1(‘5)} iS ...

V3 V3-1 J5-1 V3 +1
® -5 ® S O o

(6) Ifcot 'x—cot'y=0 and cos" x+cos 'y =g then x+y=........ .
1
@A) 0 (B) 1 ©) 2 D) 2

@) IfA:E ﬂ, then A(adjA)=........ .

A) I (B) |A] (©) |A|I (D) none of these
(8) If A and B are congruent square matrix then (A-B)*=........ :
(A) A>-AB-BA+B? (B) A2-2AB +B?

(C) A>-B? (D) A*+B?



©)

(10)

(11)

(12)

(13)

(14)

(15)

5 50 o
If A=|0 o 3o/ and |A?|=25 then ‘oc‘: .......

0O 0 5

1
(41 ®) 3 ©5 (D) 5°

Area of triangle having vertices (1,1), (3,3) and (5,k) is 2 unit then k =
(A) 3o0or7 (B)2or3 (C)4or7 (D)3 or4

2 cos0 2
If D=|-cos6 2 cosO|,then D lies in ........ interval.
-2 —cosO 2

A) (16,») (B) (16,20) (C) [12,16] (D) [16,20]
441 442 443

Value of |445 446 447 = -eee-
449 450 451

(A) 441X446%x451 B)0

© -1 D) 1

f( ) B X ,0<x<1
If 1\X)= 2% -1 1<x » then .......... .

(A) fis discountious at x=1

(B) f is diffrentatible at x=1

(C) fis countious at x=1 & not diffrentatible
(D) none of these

4 1-x

—tan ——=.......

dx 1+x

A -1 N 1 C 1+x b

()1+X2 ( )1+X2 ( )1—X ( )1+X2
2

If x=2bt, y=bt?, then —>=.......
dx

A) 1 B L C) — ! D !

™ ®) 5 © 35 O

--------



(16) 1f y =log(sec(e” )}, then < =....

2 _x? x2 2 2 x? x* 2 2 2
(A) x°¢ tan(e )(B) e’ .tane” ©) 2X(tane )e (D) 2xe* sece* tane”

(17) Two sides of triangle are 4 and 5 m respectively and the angle between then is

T
increasing at rate of 0.05 rad/sec. When the angle between sides is - then find

3
the rate of increasing in it's area ......
(4)0.25 (B) 0.5 © 0253 (D) 053
(18) f(x)=[x—-2|+3|x—4]is..... in (2,4) , xeR
(A) decreasing (B) increasing  (C) constant (D) can't determine
X
(19) The local minimum value of logx 18 x e R*
1
(1) -1 (B) 0 © 2 (D) e
(20) If ........ then f(x)=|x-1|+|x-2] is an increasing function.
(A) x>2 (B) x<1 (C) x<0 (D) x<-2
(5+logx)
(2 1) I—ZdX = eeee. +C
(6 +logx)
X 1 X e’

&) log.x+06 B) 55 log, x © log.x+5 (D) log.x+6

(22) J.(Xzzjex dx=........ +C.

X

2e* x 2e”*
3

e” e
A) - B) = © ——= D) —
X X X X
(23) [Vx*—dx+2dx=......... +c.
(A) XT_Z\/XZ —4x +2 +log‘x—2+\/x2 —4X+2‘

B X—_z x’—4x+2 —loglx —2+vx* —4x+2
®) gjx -2+

X_2 2 . -1 X_2
—— VX" —4x+2 +sin —_—
© ( > j

X—2 [ 1, (x-2
——VJx"—4x+2+—sin | ——
(D) 2 2 ( 2 j



(24)

(25)

(20)

@7)

(28)

(29)

(30)

(€2

7T 7T
A) > (B) %

sinx cos*x dx =.........

Le—r

g COS2x
¥

sdx=......
SinX + cosx)
A) — B) —
A) 4 (B) 4
J‘ dx
—_——=........ + C.
X4/3 +logx

) ~ D) 1
© 3 D)
©) = (D) 27
C) = D)0
© 3 D)

2
A) 23+logx (B) m ©) J3+logx (D) —2/3+logx

jes 1°g".(x4 +1)71 dx=.......... +c.

@A) log (x*+1) (B) -log (x*+1) (C) %log(x4 +1) (D) (

Ile9 +10*log10
10* +x"
A) 10*—x° (B) 10*+x"°

J‘1+X+\/x+x2 dx =
\/;+\/E ..........

dx=........ +C.

-3

x* +1)2

(©) (10091 (D) log| 10*+x|

1 2 3
@ SVTx+e ) J(1+x)2 ¢ © Jirx+c @ 2(x+1):+c

Area under the curve y=2x—x* and X-axis.

8
@ 3 (B) 2

-+
©) 8 ™) 3



(32)

(33)

(34)

(35)

(36)

(37)

(38)

(39)

(40)

(41)

(42)

T
Area between the Curve y=tan x, X—axis and lines x=0 & x= 4 is ......

3 1
(A) log 2 (B) ElogZ (©) ElogZ (D) 2 log 2
Area between the Curve y=|x-5|, X—axis and lines x=5, Xx=06is .........
(A) 0.50 (B) 0.25 (©) 1.25 (D) 0.75
X3 _ y3
Degree of homogeneous function f (X,Y) T Tt v is .ooveenn.
A) 1 (B) 2 €) 3 (D) undefined
. . . ody_ 1
Integrating factor of differential equation dX  xX+y+2 is .........
(A) e* (B) ex*tv+2 (©C) e (D) log |x+y+2|
Number of arbitary constant in a second order differential equation will be......
(A) 4 (B) 2 ©1 D)0

N | W

2

2 2
Order and Degree of differential equation j—y = {1 + (jx—y] } is respectively.

X
®) 6, 1 (B) 3, 2 (©) 2,2 D) 1,1
%|=]7|=1,%x Ly then [g+¥|=.......
(GVIVES (B) 2 © 1 (D) 0

If X = (a,4,2a) and y = (2a,—1,a) are mutually perpendicular then a=....... :
(A) 2 B)1 ©) 4 (D) 515 uaL ardlds Avat

If |X.y| = cosa then [x¥|=........

(A) t+sina (B) sina (C) —sina D) sin’a,

Unit vector along the direction of sum of vectors (1,1,1), (2,—-1,-1) and (0,2,6)

2n n m
Equation of line passing through origin and having directional angle 333"
y X y
W*""7 ® 570

(C)X=%=—Z (D)x:%:z



(43)

(44)

(45)

(40)

(47)

(48)

(49)

(50)

x-1 y+1 z-1
Angle between lines x=k+1,y=2k—-1,z=2k +3; ke Rand = =

2 1 -2
will be.........
A sin‘lé (B) cos_lé (©) sin ' Y2 (D) n
() =i 3 9 3 2
If lines r = (2,0,3) + k(7,—a,6),k €eR and r = (5,1,2) + k(a,a,S),k €R are

mutually perpendicular thena =.......... .

A) 6 (B) -9 ©) 2 (D) -2

x-1 2-y z-10
Equation of lines passing through (2,3,4) and 3 = 5 = 15 parallel to
line is .......

(A) =(2+3k,3+5k,4+15k),keR (B) f =(2-3k,3-5k,4-15k),keR
(C) T =(2+3k,3-5k,4+15k),k eR (D) none of these

Let A and B are two events whereP(A)=0.4, P(AUB)=0.7 and P(B)=p. If A
and B are independent event thenp = .......

A) = B) + > D) =

@ 5 ®) 3 © ©) 2

Three coins are tossed together. If first coin shows head then probability that
remaining two coins will also shows head will be ..........

A 1 B 1 C 1 D) 1
@ 7 B) 5 ©) 3 (D)
2 1 5
If P(A)= g,P(B) =5 and P(AUB) = s then A and B are.......
(A) mutually exclusive (B) mutually exclusive & independent
(C) independent (D) dependent

For the bounded fesiable region whose corner points are(0,10), (5,5), (15,15),
(0,20) and let z=px+qy, where p, >0 having maximum value of z at (15,15)
and (0,20) then relationship between p and q ........ .

(4) p=q (B) p=2q (©) q=2p (D) q=3p
(49) In LPP problem, objective function will be ....... .
(A) constant (B) function whose maximum & minimum values need to find

(C) inequality (D) quadratic equation

sesfesiesiesiesiesiesiesie e e sie e sieshesie ok

* Best of Luck *
sk sk



Part :- B [50]

SECTION :- A [16]

O  Answer the following questions [Any eight] : [2 marks each]

[ cosx T
(1) Write in simplest from tan ' : j,—— <X<—-
1-sinx 2
2y P that cos™ 4 +cos”! 12 _ cos™ 33
(2)  Prove tha 5 13 65
k cosx T
—2 , X # ? -
3 Iff (X ) =7 x , is countious at X =— then find value of k.
3 x = = 2
’ 2
s 2
sin
(4) Find the integration of S E with respect to X.
1+cosx

(5) Find the area bounded by the line y=3x+2, X-axis and line x=-1 & x=1.
(6) Find the area of the circle x*+y*=a?* using integration.

(7) Iftwo vectors 3 and { having same magnitude, angle between them in 60°

1
and their dot product is > then find the magnitude of both vectors.

¢

i| =3,

@® Forib & ¢, =5 and each vector is perpendicular to sum of

B\ — 4
other two vectors then find ‘5’1 +b+ E‘

(9) Find the angle between lines T = 3i+2j— 4k + k(f +2j+ 21;) and
f :Sf—2}+u(35+2}+6f<).

(10) Product of slope of tangent at (x, y) of any curve and it's y-cordinate is equal to
it's x-cordinate. If the curve is passing through (0, -2) then find the equation of

curve.

(11) A dice is rolled twice and sum of number appeared is equal to 6 find the prob-
ability that at least 4 appear once



1 1
(12) Probability of A and B solve a problem independently is > and 3 IfAand B

solve problem independently then find probability of :
(i) problem is solved (ii) any one of A or B solve the problem

SECTION :- B [18]

o Answer the following questions [Any six] : [3 marks each]

(13) Let X={1,2,3,4,5,6,7,8,9}. and R is a relation on X given by
R, = {(x,y): x~y is divisible by 3} and another relation R, on X given by
R, = {xy):{xyt<={1,4,7} or {x,y}<={2,5,8} or {x,y}<={3,69}}
Prove that R =R,.

(14) Find the differentation of x*"* + (sinx)msx with respect to x.

(xz +x+1) dx
(x+2)(x2 +1)

(15) Evaluate : J

- 1
(16) IfA = B 2} and I = {O (1)} are given then find the value of k for which
A*=kA-21
2x+3y+3z=5

(17) x-2y+z=-4 solve the given equation using matrix method
3x—-y—-2z=3

(18) Find the global maximum and global minimum value of the function
f(x) =cos’ X +s8inx,x € [O,n]

(19) Find the shortest distance between lines T = (i +2j+ fi) + 7»({ —j+ fi) and
fz2f—i+f<+p(2§+i+2f<)

(20) 1If the direction of a unit vector is in the directoin of sum of vectors 2i+4j— 5k

and i +2j+3k and the dot product of this vector withj + j + k is equal tol
then find ).
(21) Find the minimum and maximum value of Z = x + 2yunder the condition

x+2y2100,2x -y <0,2x +y <200,x,y 20



(22)

(23)

(24)

(25)

(26)

(27)

SECTION :- C [16]

Answer the following questions [Any four] : [4 marks each]

1 3 3
If A=|1 4 3|, then show that A adj A = ‘A‘ I also find A using this result.
1 3 4
0 —t.ang
IfA = 2| andTisa identity matrix of 2™ order then prove that
tang 0
2

I+A:(I—A){

coso,  —sin (x}

sino.  cosa

Evaluate : j(\/cotx + \/tanx) dx

x dx

T
Find the value of J )
. a’ cos’ x + b’ sin’ x

Find the solution of differential equation :
.Y y
(X dy -y dX)YSIIl(—J = (y dx +x dy) X Cos(—j
X X

A rectangular sheet of tin 3 m X 8 m is to be made into a box without top, by
cutting off square from each corner and folding up the flap. What should be
the side of the square to be cut of show that volume of the box of maximum.

sesieskchskesiecie e sheskskesiesie e sesheske

* PBest of Luck *
Rk



